Algebra RH HW #

1. Given this graph of the function f(x):

-ty
Find: ) [
a. A2)= -] b. R0)= O \\
c. 75)= -| d. A-5)= O ¢ e doss
\ L~

e. AA-4)= F(-W) =4 £(3)=-& -
-F. xwhen filx)=-2 £(a) =-

Rl (2)=-2 R
9- x when fix)=4 F( -2)=4

K==

2. Using f(x) = 4x + 3 and g(x) = x - 2,find:

a. flg)  9(5)=5-2  F(2)=H(E)+3  ((4¢e)) =5
= 3

= |5

b. g(f(-6)) 'F('(D)ZL{‘('G)“‘B g(-at)=-al-a 9(f(6))=-2a3
= =-al = -2

e fEO)  £(1)= A(1)rz £(31) =4(3D)*3  grpe)) -
= 3| = AT ((1) Ig\r{

d. gft)  f(x)=4x+>  g(4x+3) = Ux+3-2  G(HW)=Hr+\

3. If f(x)==2x+1 and g(x)=+x>=5, find (go £)2)
fla)= -2()*V  9(-2) = JF3*5 CER O
= :‘b - ﬁ' \
= A



